APt g3AHAS ABCD © YFo] 3t A
oltt, WPAHAF ABCD 2] Hol7l 600]1
AABP 9] Yo7} 20 wf, APCD 9] Yl o]

9

@0 @ 20 ® 30
@ 40 ® 50

DABCD = 2 x (AABP + aPCD)
60 = 2 x (20 + APCD)
- APCD = 10




The BAAME S ABCD of| tisto] tha & &4 &2 A27?

A D

@ /A =90°°]'H gDABCD = Z A}z o]t}
@ AB = BCo|¥ gABCD = tt& o]t}
® AC = BD©°|H oABCD & A+ o]},

—1 O

(@®)ACLBD, OA = OC, OB = OD °|¥ nABCD &=
- Az oI,

® /A =90°, ACLBD o] oABCD = AA}z+go|t},

@ OA = OC, OB = OD = B3AH 3 9] 44do|il ACLBD
E utERo| Hho|ng gABCD & utE Rt}




O 4 @ 6 ®)10 @ 14 ® 20

6:4=(x+3):x

6x =4x + 12

Lx=6

6:y=12:8

Ly=4

kA x+y =6+4 = 10°]tt.




4. AD = 80cm ! HIAHHY ABCD oA H P = 3em/s o] 2
A A oA HAA

4D = &40, H Q & Tem/s o H==2 &
AH C oA £34 B = A%k A P 7 F2]0]7] A&t 4 =
Fol 4 Q7F AU A P 7L 34204 B 2 Fo 0AQCP 7}
HaAugo] w71
AAPVD
B Q C
D6ex% @7 23 @8z
@

b
o
©
=
b

o

~&B

AP =QC 7 8 W7HA A P 7 220 A7 x ek 5
3x=T(x—4)

3x=T7x—-28, 4x=28 .. x

7(2)




